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Answer: C

QUESTION: 137

A storage administrator has completed configuration and assignment of all LUNs for a new
Oracle application that will "go live" the next day. The Chief Information Officer (ClO)
wants to obtain information about the configuration. Which of the following IBM
TotalStorage Enterprise Storage Server (ESS) Specialist authorizations should the CIO be
given?

A. View

B. Guest

C. Configure

D. Administrator

Answer: A

QUESTION: 138
What is the maximum number of logical disks that can be supported in a single LSS?

A. 128
B. 256
C.512
D. 1024

Answer: B

QUESTION: 139
What is the maximum distance of a Fibre Channel connection using a long wave SFP without
fibre extenders?

A. 500 meters

B. 10 kilometers
C. 103 kilometers
D. unlimited
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QUESTION: 143

A customer is preparing to migrate an application from a mirrored storage environment to the
IBM TotalStorage Enterprise Storage Server (ESS). What characteristic of the ESS should be
described to the customer in order to explain how the ESS minimizes the RAID-5 penalty?

A. Full-stripe writes

B. I/O priority queuing

C. SCSI command tag queuing
D. SSA Loop Bandwidth

Answer: A

QUESTION: 144
The IBM TotalStorage Enterprise Storage Server Model 800 introduced new cache and NVS
offerings. Which statement best describes the benefits of this enhancement?

A. Data that will not fit in regular cache can "spill over" to NVS, keeping performance high.
B. Larger NVS provides a larger resource to absorb "spikes" in update activity, reducing the
chance of NVS overruns.

C. Advanced applications, such as SAP, can set I/O priority queuing to direct activity to
regular cache or NVS.

D. Advanced applications, such as SAP, can exploit adaptive caching to direct 1/O to regular
cache or NVS as each resource is available.

Answer: B

QUESTION: 145
Which of the following IBM TotalStorage Enterprise Storage Server capabilities is NOT an
example of an Autonomic Computing self-healing characteristic?

A.RAID 5

B. CUIR
C.PAV

D. Hot sparing
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Answer: C

QUESTION: 146
In alignment with IBM On-Demand strategy, which of the following storage directions
allows the greatest flexibility with the disk subsystem?

A. Multiple Device Manager
B. Capacity Upon Demand
C. SAN File System

D. Storage Virtualization

Answer: D
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